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1. Find the inverse of each of the following matrices, or explain why the matrix is not invertible.

(a) A =

[
2 −5
1 −3

]
(b) B =

[
0 −3
−2 6

]
(c) C =

[
−1 3
−3 9

]
2. Determine whether each of the following pairs of matrices are inverses.

(a) A =

−6 8 9
1 −1 −1
−3 4 5

 and B =

 1 4 −1
2 3 −3
−1 0 2



(b) A =

[
2 0 5
1 −3 0

]
and B =

 3 −5
2

1 −7
6

−1 1


3. Suppose A, B, C and X are matrices, A and X are invertible, and A + BX−1 = CX−1.

Find an expression for X in terms of A, B and C.

4. Prove that (XY Z)T = ZTY TXT for matrices X, Y , Z.


